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HEH
W mE A 1 2 3 4 5 6 7 8 9 10
COD (kg/day) 1.40 1.44 1.53 1.54 1.61 2.27 2.03 1.68 1.51 1.53
2%F# (kg/day) 0.41 0.39 0.39 0.35 0.33 0.64 0.40 0.39 0.36 0.33
28 (kg/day) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
HEH
HEmE 11 12 13 14 15 16 17 18 19 20
COD (kg/day) 1.64 1.68 1.88 2.03 2.29 2.66 2.51 1.00 0.96 1.17
%7 (kg/day) 0.35 0.35 0.36 0.41 0.69 0.45 0.40 0.42 0.38 0.46
28 (kg/day) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
HE =
W 21 22 23 24 25 26 27 28 29
COD (kg/day) 1.24 1.38 1.43 1.50 1.48 0.79 0.83 0.87 1.05
%7 (kg/day) 0.43 0.42 0.48 0.52 0.52 0.44 0.40 0.38 0.45
28 (kg/day) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00

O =

T4 B BN ImARTEERE O A 24720 0 B (kg/day)
PEHIKIZ BT DRI AR B OFH R A
(FrEfimelfRsh) X (HEAKLEEREE rTRE D) = GFATGHEAN &)

COD  : 20mg/0 X 1,514m3/day =
A%EHE . 10mg/0 X 1,514m3/day
2 Img/0 X 1,514m3/day

30. 28kg/day
15. 14kg/day

= 1.514kg/day




